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Run 6125 quartetwise, posHQ: Beam DH

Laser ON Entries: 52679 Entries: 55973 aam1_1ach._pacHo
- Mean: 13,8447 +- 0.0063 Mean: 3.2501 +- 0.0018 55973
[ Laser OFF Std Dev: 1.4486 +- 0.0045 | Std Dev: 0.4516 +/- 0.0013 3.25
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Run 6125 quartetwise, asym0Osub: Beam ON

Laser ON Entriea: 52679 Entries: 55973
[ Mean: -33.2062 «/- 0.1007 Mean: -1.2837 «- 0.0722
— Laser OFF Std Dev: 23,1851 4= 0.0712 | Std Dev: 17.0019 +/- 6.0511
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Run 6125 quartetwise, negHO: Beam DIN
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[ - LEEET GN Entries: 52979 Entries: 55973
— Mean: 14.5673 +/- 00066 Mean: 32782 «- 0.0019 55973
— — Laser OFF Std Dev: 1.5167 +/- 0.0047 | Std Dev: 0.4491 +/- 0.0013 3.278
— (oo 0.4491
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-------- Histogram Vars

Positive Hel (ON): 13.844652 +/- 0.006294
Negative Hel (ON): 14.567347 +/- 0.006590
Positive Hel (OFF): 3.250146 +/- 0.001909
Negative Hel (OFF): 3.278239 +/- 0.001898
-------- Sums and Diffs

On Diff: -0.722695 +/- 0.002191

Off Diff: -0.028093 +/- 0.001581
On Sum: 28.411999 +/- 0.012699

Off Sum: 6.528386 +/- 0.003463
-------- Asymmetries
On Asym: -33.024468 +/- -0.102059 (ppt)
Off Asym: -1.283735 +/- -0.072248 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 21.883613 +/- 0.013163
BkSub Asym: -31.740733 +/- 0.125043 (ppt)
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Run 6125 quartetwise, posHO vs time
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Run 6125 quartetwise, asymQ0sub vs time
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Run 6125 quartetwise, negHO vs time
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Run 6125 quartetwise, bcm vs time
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